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(BHM) i eIy (5H) (EHM) ey 5m) | L

8 it B 5,310 214,604 9,192,775 3,092 2,442 758 1,001

1 [AbJuiidi | 995 |dbJuilii | 47,343 [HEJudiNih | 2,058,823 |#igk®rihi | 15,198 [dbJuilihi | 620,370 |#is&%rili | 3,382 | 1
2 [fali | 74l lggRad | 19,70 [Ximer | 1,908,404 X |15,074 [Ximer | 243,082 [AseRrl | 2,437 |2
3 |ABkKTH 379 |Xim#T 12,627 ‘=& 954,317 |E#5wi 8,856 |f@ i 166,448 |wWlAihi 2417 | 3
4 [ KJITH 207 |k | 11,906 [& i 554,973 |sl AT 5,727 |#iETH 127,402 |Xij FHET 1,925 | 4
5 |\ 4 181 | 10,776 |Hi4EEPTH | 315,506 | AKZEKFT | 5,556 |ASE kKT 115,268 [#E)11HT 1,619 | 5
6 |BiFET 169 |m&T 8,081 |AREXKi | 309,236 |dbSuldi | 4,349 | 101,829 [KZAHHT | 1,407 | 6
7 i 150 | kBHT | 6,478 [#A&Th 301,941 [H=0ZHT | 4,313 | KAMT 91,114 |5 1,352 | 7
8 |[E 5T 139 |5 6,015 [kZ2mi | 267,951 |k2mET | 4,136 | &S 90,368 |k 1,316 | 8
9 | KA W 126 |BUETH 5,712 | & 215,263 |/ 1LIHT 4,132 |BUEE T 70,217 |/k&HT 1,315 | 9
10 [ K EF 5 122 |@E 5,272 Stk 168,639 |df& 4,126 |tk 61,417 [dbJuli | 1,310 | 10
L1 [ZFEHT 112 |[Hh 4,904 |fREFT 154,105 |#:)1/ET 4,031 |E 5 55,236 |#ZFAT 1,261 | 11
12 |5tk 104 |f7HETh 4,887 | 5 152,381 |&¢ LAY 3,683 |BRiFE T 46,898 |Hith 1,252 | 12
13 [ 99 [T 3,539 [4rHETH 114,773 |#&FHT 3,642 |BrEHT 39,643 | EHT 1,246 | 13
14 |s& T 96 |\ 3,538 |-l 110,750 | -F&HT 3,525 [E-FiHi 35,613 [&& 1,235 | 14
15 | 30T 91 |Fr= T 3,535 | AT 104,850 |Hitsrh 3,439 [\ ZHi 35,105 |FRREITH 1,220 | 15
16 |17 80 | Epdmiri 3,249 |\ 4 95,736 |&'H 3,188 |5k & 32,331 |4E AT 1,175 | 16
17 [k & 70 |B0)1TH 3,067 |HrENT 95,497 |/Kk&HT 3,163 |#zTFHT 32,257 |fRHNT 1,165 | 17
18 | X1 T 68 |FA=NT 2,944 |¥FHT 93,193 |&E-aii 3,129 | KSENFT 25,079 |/ ILIHAT 1,165 | 18
19[S 68 [ KJIITH 2,729 M)l 70,719 |/MAHET 3,068 |Ji)IIET 24,348 |Hr=HT 1,121 [ 19
20 | A0 FE 68 |m)IlTH 2,649 |J&)11HET 61,328 |JII&mT 2,987 |HiZEHT 23,563 |d& 1,118 | 20
21 |ZEk 67 |#FHT 2,559 kBT 60,644 |/NERHI 2,843 |ATHEH 23,133 |)I1IRFHT 1,095 | 21
22 |Fr=uy 61 |1y 2,494 | KSENFTH 57,170 |f& 2,816 | KEFUEH 21,867 |fESENT 1,013 | 22
23 |EehT 57 |RET 2,457 |FAENT 52,498 |\ i 2,706 | HT 21,832 |EsaHT 1,008 | 23
24 |¥p=mT 57 |0z BT 2,431 | 52,398 |HrENT 2,701 |F-EmT 20,906 |&E-Fij 1,006 | 24
25 |HEE 57 |ZHFENT 2,349 |FENT 49,974 |EEFE T 2,698 |=&H 20,132 |\ ZHi 992 | 25
26 | = 57 |F22EmT 2,183 | KEFYLH 48,667 |H)IITH 2,670 |H)ITH 18,975 |J&)IIHT 976 | 26
27 | Ty 56 |SHZREFTHT 2,076 |ZEAENT 48,530 [ A& 2,664 |ZEHAEHET 18,126 |AREKTH 968 | 27
28 | )T 55 |HERiET 2,006 [#0)IlTH 47,131 AKX | 2,597 |H&iEmh 16,850 |F2EHT 958 | 28
29 | E-Hi 52 [H9&iFmH 2,004 |/NERH 45,973 |E 5 2,533 |#0)IITT 16,650 |E#h 945 | 29
30 |/ )11|T 52 |k 1,923 [/A1Lify 45,736 |f&F 0T 2,516 | KJIH 15,844 |EJ5H 918 | 30
31 | mT 48 | HARFET 1,698 |17 44,179 |fEEERT 2,488 | 15,498 |20z HT 898 | 31
32 | SimihT 42 |t 1,621 |H&Eixm 39,903 |&E s HT 2,481 | L=&HT 13,722 [/NPrlT 891 | 32
33 | BRE )1 HT 41 |/NERTH 1,617 | L-EHT 38,815 [k kT 2,468 |ZERRT 13,575 |~ )=HT 869 | 33
34 | Mm 40 |FE & 1,489 |ZERkT 36,803 /i) I[HT 2,459 [/ LIRT 12,893 |f&m 844 | 34
35 | KSESF 39 | 1,270 |4 36,277 |7 2,436 |SLATHT 12,439 |H& 1% 841 | 35
36 | = 39 |[mEnr 1,198 [/\irmT 34,726 |{THG 2,349 |fEHEH 11,910 | 821 | 36
37 | K JIPERT 39 /My 1,132 |ZURiHT 33,280 |TFEMT 2,289 [t&% 0T 11,559 [ka=HET 800 | 37
38 | KAHT 39 | RJJpEnT 1,125 | Ao 32,985 |mENT 2,170 |/Kk&HT 11,075 |ZEAEHT 772 | 38
39 | AT 38 A LLET 1,107 |#&EEH 28,925 |ZEFENT 2,066 |G5uET 10,489 |[JKAHT 764 | 39
40 [ B ET 27 | LT 1,101 |7KRHT 26,631 |H&iE 1,991 [/NVPrlT 10,085 [t@ifrh 735 | 40
41 | [ $E T 25 |G lT 1,041 |2y 26,002 |[A0Fr | 1,943 |[FE 9,779 |[dEENT 734 | 41
42 |t 25 | KSERFTH 1,029 |y 25,825 | RJIVEHT | 1,920 |/hNERT 9,386 | M 732 | 42
43 | FFENT 23 |fRANT 992 |HF& 25,245 |ZERR 1,914 |A<oFEm 8,815 |MJIITH 716 | 43
44 |fEEENT 22 |/k&ET 842 |tEANT 24,961 | KARHT 1,842 [GmHT 8,773 |HH T 710 | 44
45 |/MrET 22 |fEEENT 806 | K JJPENT 21,601 |f@HEerh 1,784 |#EZEHT 8,165 |Znikr 706 | 45
46 |FEBTH 21 |HFE 792 |fEZENT 20,057 |¥A=HET 1,783 | KJIpehT 7,939 | KJIEET 706 | 46
AT |fE T 20 |[esEmT 726 |FEJIET 13,100 | [ s lT 1,716 [KAKHT 5,430 |BRE])IIHT 699 | 47
48 |/ ER T 18 |JoKHT 711 |[eEET 12,461 |5 B=HT 1,684 [T 5,329 | KB H 673 | 48
49 | /A1 ET 15 |FRE )1 T 545 |&E [-HT 11,970 |JAHT 1,679 k)11 5,261 |KATHT 648 | 49
50 |4 11HT 14 |FEAT 461 | RORHT 11,939 |#HipiHT 1,659 [Z& BT 3,819 |HLailT 620 | 50
51 | & =T 12 |FFT 455 |1 8,304 |FHHTM 1,643 [BRET)I| BT 3,808 |FRIGHT 583 | 51
52 |HF & 10 |4E)11mT 325 |&EHETH 7,675 | XJIT 1,619 |&FHT 3,275 | RJIT 581 | 52
53 |5 FHT I EAR) 325 | BZFENT 6,044 |#0)IITHH 1,537 |F&FET 2,479 [/NERTH 580 | 53
54 |5 HET 9 | & BT 211 |JIGHT 5,257 |BREJIET | 1,524 |)IIFFHET 1,927 |&FNT 545 | 54
55 | =FHT 8 Iy 176 |5 =T 3,654 | KEFHET | 1,498 |5 RIT 1,834 [#)ITH 543 | 55
56 [JI[IFFHT 8 | RAEHT 114 [ KAERT 2,100 |EFHET 1,328 | KFEHT 739 |ARFET 519 | 56
57 | Buldf 6 |S&HHET 101 [% HHET 1,020 |k HHET 1,010 |sRléER} 367 |[ATHETH 473 | 57
58 | KILHT 5 |BRIERT 63 | HMERT 560 |HlgAT 889 | HHT 331 |5k mET 328 | 58
59 |IRFS 5 |UsHIT 60 |VRHHET 378 |FRFt 637 [VRHEET 79 |FRAT 278 | 59
60 |¥ M T 4 |JRAT 27 |7k 172 |VSHHET 630 [FrAT 75 ¥R mET 132 | 60




